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Syntactical Interference in Learning English

—With the Emphasis.on the Passive Voice—
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1. Wilga M. Rivers, “Rules, Patterns, and Creativity in Language Learning, >Englsh Teaching
Forum VI, 6 (Nov. -Dec, 1970,) p.7.
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Aehe 3~13428 A S A Fe WA AR ol shEeldl Feld AelAl
Ao A2 = e Foishe AeAAAE el S Aol Fx gk

Wb BR1® 4% 7 Agel T T HaE o Aol AT
8] 89 similarities 3}- contrasts 7} & g—g-%}L' AL thol gk A o] m 2 okF o] 7+¢] interference
o Qelge o% 4 @k A4 ‘ |

o]¥) 3 interference 7t 7] Sba] AF Al o] 2AAR N E 4. THA 2 9
Wgezn A8 TR ATES BARHE AL TP AL 4 g 2z
T interference Fo4 FAAL FEI eld T4 FF R FAE T2 FF

F

=
Wow Ak

AR GEANA B+ AR @b FAL Amshed 2 3
T8 SETF2E vl FEA7 Aok FEA G ARow hyel 182 %3

E test & a4 $9% A3hE FE Aok
. Interferencet| CHSHO{®
Robert Lado & zk4le] 3bs] Ao (transfer) et &g A-gate] thgsh o] dslxm glvh

" “We know from the observation of many cases that the grammatical structure
of the native language tends to be transferred to the foreign language. The
students tend to framsfer the sentence forms, modification -devices, the

number, gender, and case patterns of his native language.”*

Oll

2 BFole] TR AFeld AelHHE Al ¢ D}% Aold = 2 7 A4
Language Teaching ¢ facilitation 3 1nterfnrence 2t B4 thel 7¥c} Aw sl
siet.

“When the native language facility involoes language units or patterns similar

* to tlie new ones to be learned, there will be either facilitation or interference

2. =ZJE, “Contrastive Analysis] Bz 5%~ BEEE, 1, 1 (1969. 4), p. 40.

3. Interferencez} o} 47 o= 7}@., 7‘r/§j urEl, 2, A °H xEsH, 4F ¥z x
AdtE A4x s o SojE e 24 AdE q—ﬁi Fatgo x4y olzte £
olefk. Webster's Third New Infernatzonal Dictionarydl = th&3 Zo] 29 9=}, The
dlsturbmg effect exerted by the learning of the act on the performance of prevxously

learned act with which it is consisténece, EIo] AL “7p4”o = Zr|gs).
4. Robert Lado, Linguistics Across Cutlures, Ann Arbor, the University of Michigan Press,
1957, p. 56,



in. learning depending on the degree of functional similarity.”s

5 mRolsh A% B MET e 2 A% F49 Axel G4 Qo]
2o E-&(facility) £ = = w3 (interference) = Hrhe zAolt}, wels F 0%01 8 T

F2 GAsEE B 98 4 Qe Relth 2931 2t 24E 49 e

“Added difficulty in learning a sound, word, or construction in a second

‘language as a result of differences with the habits of native language.”®

e

2} sk ZEAo] ASAl B dgle] mEFole, ole]<Fak(the habits of the native lan-
guage)s+ 9o ] o] o] %3} (the habits of foreign language)?] zfolelx Ea Q5.

ke of] Newmark =
“Thé problems of interference in language study thus arises only under cond-
itions in which two different sets of responses are to be made to the same set -
of stimulus, or more generally, in the same stimulus field. Such conditions are
met ir} certain traditional translation grammar procedures, but they are also
met in courses devised by linguists in which the students’ attention is called
explicitly or implicitly to a contrast between the native and target language.
What linguits have typically not done consistahtly in planning language is to

minimize the conditions that lead to interference.””

o st} o] o] el 4L AFelo] B FA (ignorance)z 22 5k

AA

“By phenomena of interference I mean those instances of deviation from the
norms of a language which occur in the speech of a bilingual as the result of

his familiarit'y with another language, i. e.; as a result of language contact.”®

-

1o q]_-a‘%-‘,} uhol kel Weinreich = language contact 8] A3 spAsE ofel T 9

5. Robert Lado, Language Teaching, New York: McGrow Hill, Inc., 1964, p.40.

6. Ibid., p. 127.

7. Leonard Newmark and David A. Reibel, “A Minimal -Theory of Language Learning, ”
(Abstracts for LSA meeting, July. 26—27, 1963) mimeographed, p. 7.

Uriel Weinreich; “On the Description of Phonic Interference,” Teaching Engiish as a
Second Language, Harold B, Allen; ed. McGrow Hill Book Company, New York,

"N.Y. 1965, p. 126.
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38 7 —?‘i ol olEl g AL BFole JFo| T l‘i——x‘i*z—*. %%‘4‘1’ (partial identi"cy)%}%
Aelshx watw glch, ' S
o] 4kell A AT ek 2ol shbe T ol gk ﬂﬂ S F ol TE Aeldd &
7:301 i B, = . i}-%%}a%}‘:— target language & ©l & =] (ignorance) & H=.
A} 374 A% oA & o ¥Rdo= 03.10% Ao wlelxl At Ba vk 23 o)
37k=1 ¢ A nj o 4] target language & TZE EErhE AL AAEI

FAd oln oW e QelalA T2 ael FRel A%AA b AL AR

|[m _\r-L

e}

th. EZE ol d’: o Aalg \E’.—E‘ 03_0% &4 level = phnologlcal. syntactical. semologi-
=gt Robéf Lado = 01 & 6? syntactic mterferenc 9] % Spain ¢ £ (bullfighting)
£ d=z 57 gch. % 774 Spain EEA L g £5479 2E Ao £9 el
L Almd 4% 3 ogEe Evm gk ad Y FA2QE AAE
' WE obF gebd 23 s BER FAT T A
vhel 7k bl 4] EES ZoV]  AFstm Asctm A et Fekx Yok’ ol
294 W7l BEoz A4 Lt AR(BH)Y Aol E JehiE @ dolth. 4018 T E
e ANz A o ow g F3tY S Fx dE 2 adeiel o oS3 e
el Apolel e vl s ul WL 2ol WAGA Ak, ol E ) Hol s} FFeld]
AAE AR FE 4% a7 Aoke Fold o
ol kel A mda] B ubs} zro] AL alelAlAl WA Qo] structural interference
o} olelA Al gAgl g4ol4 Aol cultural interference ¢ F A B ] 2
gleh. o) EA kFolel dejalA uiA, A el Aol delEe AL AT 9
1

Tof m%¢ BE ddd4 Aol dol e Asst I, Weinreich & 9 Fe] as
o JAA odel AAY ARt TR THE FEA FAL SARGT FEm deht g
Fo Wes Bl ATENE Vebzolm o\ alT Ladel 37 Uzl gk W A3
AASnote 97 m% 4 BE F9 shisk “Ba) g FEshsl vz Folee FAe
2 SF BT FY A5 W4T F T oA sl WFGA9 ok 5P A2
9 ANEL Az: FAd FARES TAFYY F4L A= ¥ dehoee Fad &
WAR A W 9Fe] mg AL ¥ A%t FAL A

ST wgE 2 o] AAY FHE S5k 2 WASNE Rldn T A F A

9. RAZKE, THELOWT,” BREEHS, (Bigi), L, 7. p. 31 &2

10. Robert Lado, Linguistics Across Cultures, p. 110.

1L KAKE, “FBR-OWT,” RREEHE, (B, I, 9. p. 38 %=

12. EOLHE, “REHEE W KEPER, EREBENEEE (8), (Fmzlit, 1967), p. 315
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. Contrastive Analysis()ﬂ il

Contrastive analysis g} §h& 2719 particular language & 43 o] 25}e] = oo} eha]
1

FTEAI} Fol AL Folf 2hel e gk}, Contrastive analysis & F 7 2] particular

—t
fru
ob
o
>
2L
l o

language ¢ DH&% AR o8] Moo Z4 linguistic universals & #+
AL FE2 & ln = gddon: F Y p

o] 549 degree of difficulty & F4geo e 93¢ n5e Az AT F Ut
g%l 244 ARz 44U T A2 EAL T AY Adele] F ojk At FHA
8 EFojelm vhe St FEAGID Ao AP A BTk Holdol
learning problem‘di HE] g A ]/‘1 ol e,

articular language ¢ ol A& LA 3|

5 7}74 AE A Qe
AA R 56 Lo vjziAe) Raslels AE ud,
A5e] FEAGA L Bl FEA eI 2 |
F T4l AFe] el AR HLalr] el T A FASH] AHAE
Slei Aolsk Aoz AT FE WAL AF L R THY 4 9§ Fook 4o}
#el4 contrastive analysis & 4 T4 A4 AP zAels wAE FHAe 2T
.

o5k HEAFAGY J 2249 A& FFoje wAH AEE T 4 Urt: Aolth

ol21 & A& Fries & oh3t 2ol F3stm et
“The evidence we have seems to lead to the conclusion that any adult who
has learned one language can learn )another within a reasonable life if he has
sound guidance, proper materialé, and if he cooperates thoroughly. The most
effective materials are those that are based updn a scientific description of
the language to be learned, carefully compared with a parallel description of

the native language of learner.”!3 '

281} o) 9+= wkg) 2 Newmark and Reibel ¢ o) 254 F4£ 2% glv}.

'13. Charles C. Fries, Teaching and Learning English as a Foreign Language, Ann Arbor;:
The University of Michigan Press, 1945, p.9.
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“The logicél flow that underlies the empirically inadequate recommendations
arises when linguists froin the fact that languages are structured, and-structured
differently, the specious conclusion that the 1anguage teacher or course writer
n;ust himself inipose the grammaticalv ordeting of the pedagogical material and
" that the closer the ordering of the material follovvs sothe particular linguistic
theory, or successful grammar, the more efficient and more successful‘ the
learner will be in using the language. The excessive preoccupation with
contribution of the teacher has distracted the theorists from considering the
role of the lea’rner as anything but a generator of interference; and preoccu-
pation with grammatical structure has distracted them from considering that

learning a language means learning to use it.”!
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ol = o] ol 7F E A ﬁMT wl E structurally ordering o] Ho} 9= @& g
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speech habits o] 2= -9 6] A 5+ =3 gz FAd Jlabg Fol TAR ;A AR
EAolete Aele BFe) ol Exnylale]sls] T2 45 learning problem &) %41}
gk 71 ol /‘1 295t 84219 language learning capability & TAstx &l o] S}
AR AALE] FHAAE ) 24el AN &% AASE ok grte AdE ZEolH, EHE
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“The term ‘interference’ is appropriately used to describs a phenomenon
observable in experiments in which different sets of responses are to be learned
to the same sets of stimuli. In that case the previous learning of a certain

set of responses may have a detrimental effect on the learning of a new

set.”15

0

ColE ol FER FH L3 Am W FE:)LLs g A5 (the samie’ stimuli

[’J

14. Leonard Newmark and David- A, Rmbel “A- Minimal Theory of Languagé Learning;”
pp. 3—4.
15. Ihid. p. 7.
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el A

I want to study.

We need to work,

They have to go.

We Wisﬁ to stay.
g dee] g T2E S 14
) I must study.

We should work.

I can go.

They will stay.

S WHTEE WS )
*] must to study.
*We should to work.
*[ can to go.

*They will to stay.

2 239 EHE 2495 ok G FEg 434 o 2ARAe oI 2o
A AFAA L& ARl T, Heh FFeI e 224G Sdurtt G4
4ol A9 2 EA0] ARk 3 2 EA 2 AAL TaUe] @ S 93 T
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# Frdeed SEARE 24T + 9 £ 257 94E mole AHAE A
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16. David L. Wolfe, “Some(Theoretical Aspects of Language Learning and Languag,
™ Teaching,” Langnage Learning, XV, 3,4,) (1967) pp.179—182.
17. #BHK, “Contrastive Analysis?] IR, ” o{stm®, A ie)ska of ghelF, 1969) I, 1. p.48.
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57
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2

V. @oie} 2o{e SEefol rxiy

L4 dEabe fEEAe Ladost F4T faeAuwed 4T Aol ohizh 4
g

U. =
uestionaire B test Fa AL o xR osAY YuE 3

T 2524 949 g 3
Eoh®
L go us

(1) The boys repaired the car.
~ The car was repaired by the boys.
(2) They considered her pretty.
~ She was considered pretty (by them).
(3) He believed John to come.
= John was believed to come by him. -
“(4) The contractor made me sign the paper.
— I was made to sign the baper by the contractor.
(5) They doubt that you will go.
' ~ That you will go is doubted(by them).
; It is doubted(by them) that you will go.
(6) That you came early surprised me.
(=It surprised me that yoﬁ came early.)

~ I was surprised that you came early.o] 4

18. Robert Lado, Linguistics Across Cu'z’turés, pp. 51~74,
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Englsh Active: X-+NP,+Aux+VT-+NP,+Y = o
English Passive: X—!—NPz—E—Aux—Fbe-i—V’If—%en-}—(by+NP1)19i§ bR 5 9k,
2 2o TEs
(1) zekolst A E ek,
—F7F aofolol Al Asl gt
oje 7} okol & kel
—oko) 7k el el Al ¢k7] et
Z-A7E R E9
—vE 2 AdA g8 e
(AFge]) AW Aol o] K E A
c o oA A o] B G 8 2ol
(2) Fgo] 28 2 ' '
‘ —a2 desl A By
]

kel <l A= odeh,

3) AR Ao

Korean Active: NP;+ of}} NP+ [E] VT
, 7 ‘
Korean Passive:
(B} A ok
(1) NP+ 4 o] [+NPet e L4y 3 b
17‘” 10}] 2 &) a)
@ Nort {9 ) e A v 5{34}
o Bis 1
Tl T Ly aa ) Lo
£ [ o o}
(3) NP+ { o] }—{—NPHr 4] } FVTH{ o] | AT
7} 1 o] 93 &
19, A7 AR AsE HREFAA 48D Azt A5 B9 4498 4ol
20. AW, FHUE (42 322, 1961, p. 409,
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(1) 9l 554 NP3l NP7l ]50%1/(‘] VTS &5 = A= NPy ¢l by & €41
b, Sojol A NPt NP,o) elgo] b 4 ok 44 dne gu 2 AF v
NP, Slo] £& “E/01/A7 “lA /el /ol AR 2 AT NP, 98] “g/F70] “e/0
7} 2 bl :

@) 9ol 5% VT s1FelA betVIiteno] Hau Feois slge FAbell wek
“ol, 3, 7, #°F FAIE AFo] AYRel, Foo NP BAE L 54
9 FFe) @ NP, NPwahny, NP+ A% Fe 2 39 ek %,
se b FAE A =R 2E Sl 54 AR AR "o/
B BAE AR Ao AR E mEe, |

(3) 419 passive transformatxonu VT A -Q-EJU% ZFo]8 sl Ex VT Ho] A4
A Fo8) VT 5E 29 SAFS NP+aps 59l 5 57 8ok

(4) 39 .VT % causativet complement® 3:¢l root-infinitives} 5]%“1/‘1-‘5;

“to"% %,

__4

(5) ol NPy7b g9 #44l A e %54 VI 4 5 gla VI
NP, 2vhe Fol & # 5k F4 A3E VT @9 NPol Aol “it"¢ g aeh. o
018 NP, &3t A8 24 A4ale o150l A% LA VT Aol 25 byst AdaA

ok 3 thul that-clause -

i
o
M
A

V. Questionaire®| =X = Test

_FTAS SIE T2 At 9T Fhon SN EARAA hehiEe

est & Edle] gdw 7 AFE BHdn ABsEd 2 S gdormg g4 o Fsl
2
=

Tl A%
2. o148 IFFo] d4 FEEA AY (

21. “vr= vE PYgEETY 8F5E, YE edA me B d GdqA Y eg dhec7e)
Zro] el o] #llol x R wlslx] g )

22. #3¥, |E[(LE. pp. 418~419 Fx,

23. Roderlck A. Jacobs and Peter S. Rosenbaum, Englisk Traustormational Grammar,
Blalsdell Publishing Company, 1968, p. 184.
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b. This letter was written a thousand

c. Her dress was torn by the hooked
d. His money was stolen at midnight.

a. A rat wasi caught by the cat.
e. A beggar was  despised by the
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b. o] &
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a. &
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25. D. Terence Langendoen, The Study of Syntax, Holt, Reinhart and Winston Ihc., ‘1969,
pp. 6—10.
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(1) 0] B2 =nj&o(z} 22|2C). : N

7+. Acceptable responses. : ‘ Af el B
(1) This flower is called a rose. - ireseesinesssntessisaererpanpans (75)
(2) This flower is named a rose. ««=== ------------- +(3)
(3) This flOWET IS @ [0S, ++srereresrsreresesrareisntnmsussasssnsssisesis (2)
(4) Tt is said this flower is a TOSe. «wweeeresreserssmssensnesees (0)

731 .......................................................... (80)

1}, Partially acceptable response‘s.

A(1) This flower is called as a rose, -+ S PP (1)
A(2) This flower called the FOG@. eversessscresrrassrensivnsanrriseaness (0)
A wreveeererenes e e Grestesrenies - (1)

o}, Unacceptable reponses
(1)* This flower is KNOWN £0 @ £0Se.wrerrerererssstssussisiririnisans (2)
(2)* This Flower is SPOKEN @ T0SE.wreresereereesessusrssmussssssssses (3)
(3)* This is called 0 A TOSE.w+reeersveressesusmssinisusrsinmssasesine (0)
(4)* This flower is called by the T0Se. weererssssmsssnssnsssenins (1)
(5)* It is called that this flower is a rose. wo-eeeesseesesesers (3)
(6)* We call that this floWer iS a T0Se.:wswseseesssesssess v (2)

H] ereeerereie e (11)
. 7] _E]-és ........................................................................ (8)
GEEAL T crrerseee s (100)
2. 8 ofelo] ZHzollAl Ash SRMCh
- 7k, Acceptable responses. ‘ | ‘ ARk
(1) A woman was Killed by a TOBBEr, «-«rsereereaversrsesurinssrisnes (71)
(2) A woman was murdered by a robbér. ............ rerreeereranes (3)
7sﬂ ...... R e eseersessnessneranrnosasssesesseressnncason (74)

1}, Partially acceptable responses. '

A{1) A woman killed by a robber.----seeeseeeer eveeieierreneenanen (5)

A(2) A woman murdered by the‘thief_...' ....... RS D)

(6)
(3)
(1)
(110)*

(4)
(1)
(5)

(2)
(0)
(1)
(0)

L (2)

(1)
(6)
(29)
(150)

B a
(108)
(4)
(112)

(12)
(0)

27, ARl test Ao e ARelA B Rk we A 22 ol G4 T4

CEFL®

28 FEHe €AY 44 T4 FEL2AL AN TR ¥ee 1 AL FHE FHL.
I

H
olsh A EANAR TLE.
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Al rererrennrerininin, P S ST S TIPS (6) (12)

1;}.., Unacceptable résponses,«---+-s-e---- B AR cheremeaene (7) (5)
(1)* A woman was died by a TODDETL, -errverennrenmunsasenserraserenns (7) (5)
(2)* A woman Kkilled to burglar..creeseeeeemormermmmninniiinnen (0) 7 (1)
(3)* A woman are killing by the thief.--ceeerreeiieniiiinniinnnn. (1 ) (0)
PP :‘....'.( 8) (6)

2 7] ] P PP (10) (7)
GELAL GHA] reereerenrsnnnreninieesisssnnesssns e (98 ) (137)

A d—(1) 2 (2)& 519 sentence 24]& E7}5k) phrase 24 7455k},
3. sh=el 0| ol Hoirt. |

7}. Acceptable responses. ' Axlel Bt
(1) The stars in the sky are seen at night..ereeseaeesseeans s (53) (41)
(2) The stafs in the sky appe/ar at night cooeerereneemmine.s (1) (5)
(3) We can see the stars in the sky at night.ecrcoveremeeeenen (5) (16)
(4) The stars in the sky are found at night. «eeeereresesreneneen (0) (1)
(5) The stars in the sky are watched at night.e-ee-seeeeereres (0) (1)

7q] .................................. eeereeeaaneesientesaarnn (59) (64)
1}, Partially acceptable responeses: none. '

v}, Unacceptable responses.

(1)* The stars in the sky ook at: night.--sereseerereessessneens ~(6) (9)
(2)* The stars in the sky Show at night.------eeeereereerneenn 7-'-( 3) (7)
(3)* The stars in the sky see at night.-s-esereessessesserierivnens (19 ) (13)
(4)* The stars in the sky seem at night...coeeeeevceiinenn (0) (1)
(5)* The stars in the sky are looked at ight. «wrorsssssesss (3)  (6)
(6)* The stars in the sky are shown at night.---eservemmeeesnenn (7)) (6)
(7)* The stars in the sky is seemed at night.-eeeereremmmrennes (1) (0)
(8)* We can look the stars in the sky at night,--ecceeeereeneenes (0) (1)
T #eveereararasenesinters ittt ar sttt (29)  (43)
Bl 7] Eleeesesrerreienrenniinienne et e e (8) (21)
%%74_ %g-;q] ........................................................................ ( 96) (128)

[¢3
L
T
-
H
———
*
e
<.
e
o2
2
fu
b
l_‘O[l
ok
I
g
A
2,
o,
4
by
i
fild
™
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r_‘q‘
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£
=
o,
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=D FFo] B Tz A&
%A% |4 F A5 | d%58 oFF | 299 2%F | 2
A B A B A | B A | B [ A | B
294 415 220 303 27 22 21 i 33 26 ] 57

(74. 8) (73.0) 9.1) (5.3) (7. 1) l (8.0) (8.8) (13.7)
R ] “
2. At A4 AEE e Ruh
B: AR =g ¥ e A% olsd A F9F
Flol Vel ARl s FREoE T 1 98 FHo|E zhol kA Y g49E& dloy
A FelA cued] FADE FELS FYY AF oz test o) FFIE s FHT A
w, A g457 ¢ Ank BE BYTzAR A6 wAd Are 5.4 el
SA . 2H Y FFE FY Fxe 23 vE3dEe gEn A, F FF9 5L

A ARe AAss NERAE T oFolel T4 83.6%3 T8.3%2 oF 5%k

€ gudl $& Ashz ook Aok

L@ el sl o9 SE e vdehdE A
CSodl el A slERE GeldA H2A SFd e dehda 3 EHe deats
A7t Yeh ol ABAE Agetel FASE Aoz welE Doz Sk 299 A5
S Rem A g Sl A4 T ASE AAGAE o Fohx ALE w2

et £4 FESIE @t o] & Foloh ngelst BF FYR T2 pme $

3
ol A" AFE 2T £ gl , . B
Uh) =19 o157t 949 FEH A AT e depbe A4S 0 o
| T % B R B
a. 29 ol AT AXY =2Uch | a. Her sister seemed (Yo be) happy.
b. b Al7| Aol E4) _q:_,_' ~  b. Take the tea before it gets.cold. - -
c. 239 Fol AulAY HH{RMCHL ’ c. Her cheeks went red as a rovse.v

— 20—
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d. vtele o8 Gof] sm ggle]l HWAEALL d. The sza strefched before him bright
‘ and immesirable.
e. W olokr| sl olAEAl BEU=R| wE2Aul e My story sounds strange, neverthe-
A AR4 o], : less it is true.
Folel w1 5Tt Joie $5TzE 2o A5 A2 A .w% Fapst

o F
3 ERHE A foleh 2 B JEhd Heg 8w,
—

4. 39} oiti= BufstAl EQlrh

7}, Acceptable responses. : AR . BAg
(1) His wife 100ks pale,-ereeesersersmmsmreernernnsss SR «(47)  (56)
(2) His wife seems pale, «ereresresmsinsmseminsemsssssncnsives ceenene(6) - (28)

A seeeereini weeedeenn (53)7 (84)
v}. Partially acceptable responses.: none. .

t}. Unacceptable responses.

(1)* His wife seems to pale.««--- Feteenrtrrearsreeresiraneraarnerarhriee (2) (11)
(2)* His wife looks like pale, --wreesseeeesssee. e (1) (12)
(3)* His wife Shows pale.:-rrersrrererremmrminninsiieiiii. ~(0) - (1)
(4)* His wife is seemed 1o pale.-rerrrereresrecmmman cereras (0) (3)
(5)* His wife is-ssemed pale.--seeeeeeees errere et et esreateea (2) (1 .)»
(6)* His wife is seemed to be paie......,,...............; .............. (1) (0)
(7)?% His wife is seen pale. «eereeeeeer ereetreesas eennnesen veraineasesns (14) (10)
(3)% His wife is shown pale. eeereeeeresseeseens e (2) - (4)
(8)% His wife is SHOWN Pale.rrserssersassrrssisiemsenmsesmciessicsenes (2) (4)
(9)* His wife is looked pale. «--eee P PPN (2) ‘( 4)
(10)* His wife is looked like pale.-------------' .......................... (1) (1) L
(11)* His wife is paled. e eestseesesesasseiareiasscesanasareeantreaesisennsnne (1) (o) -~

. 751 ...... st (26) (47)

2l ‘71; 5 DR teenreeseennaerineeraetrerrnenanns ;:..i...( 7Y (14)
SRRl RHA] eeeeeerereensessenene s SO e (86) ' (145)

5. ofmLlel @20l ML

7}. Acceptable responses. Y : Axt  BAn
(1) My mother’s face turned pale. «eesrrerersessrsrscneennn: e (6) (20)
(2) My mother's face became pale.:-s-rereesesnee eererareeiasenn (17) (48)
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(3) MY mother’s face got pale. ....................... ;...........-...7..( 6) ( 8 )

(4) My mother’s face was pale. - e eierrrrriaa—enaieseanasaes (20) (26)
(5) My mother’s face looked pale..:--:- TN PR seemenienens (0) (5)
A vereresererenieninee e R S PTFON (49) (107)
1}, Partiall& acceptable responses.
A1) My mother’s face paled. e tuee e ee e aratedene s an s sres s (6) (1)
'A(2) My mother’s face was paled. .......... (20)  (7)
| eeeeverieseneisnine s e e (30) (8)
t}. Unacceptable responses. i
(1)* My mother’s face came to pale. --ee-ee serrasdesnenniens e (0) (1) (
(2)* My mother’s fa,ce was turned pale. eeesiererinnine (3) (5) -
(3)* My mother’s face was become pale. -rerrrerersrieminnenies (4) (1Y
4)* My mother's face was gotten pale. - B TRTITERTTD (1) (0)
Al eeereereeees et eneeteneetereseesateoantacn seeeratatettrosettnavecnsirnrensainass (8) ( 7)
7 2}, 7] ' E]1 ................... ............................ F AP, (11) (16)
SRRp GAl e e e e s :.(98) (138)

A—(1)E Fad oz 454 FAPo R FoI3 cueel] A3 fujgow

A%t AR AFLEe A Brbslm 2 acceptables 9 unacceptables 9]

Ad— (@ BqA, quEAoz sbsht Ad Agdd Qeld Trdme
- acceptables 31 unacceptables 8 =7k A a),

E D F3o] w5 d Tz A4 (94 A5
s F A E |2 2F A4 ; J5xd oF4 | 299 2%% | 7 =
A | B A | B | a B A | B A B
184 283 | 132 197 31 " 29 3, 25 1 36
(71.8) | (69.0) | (16.8) | (10.2) | (l.6) | (81 (9.98) (12.7)
A% TAEEYE H4AT 24 e vt '51/%1} Arke g5akA g Agded d
A A sl FER AT RS LE ek e ST E o9 74 sal
of g AR ol ubvlaiAbole}, o] AL YA E oIF uhsh Zo] 71l el
AL Fapge] el Erjsixle Ao & sFTE o9l F2E Agdtd EA
L3 B Aol okdst Beh. 2w eirle] Folal cue “~mdli®o] TR v 4

[\V]

2 —
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o S1ETF2 o199 A4RGAAE BA el 42 iR whois} welm Yok
O Aoz v To] mot Fefd FF FE T Joldl SFTFEE FYAse AT

G4 Aol Asta o el Saahd g As

F g
a. wo| srlEd A TOIRCH a. The bread baked in an oven.
b. Aol EHRCE _ b. The building cracked.

98 Feld EAA TR s FARNE el 54 UG TS FFr
AAY FAY “o]7e} T Folu] “Ape] AZuzeg “@47o] THAAA o] Folxl FHo]
oh olsh g BFRAr faje] SIFRAY] 95t Foje] gl MR Vel Aol
Joi8 @Al AFAEA FEAE Edse Aol ‘

olAl FoiAl wad o SR $L oA s,
6. 20| Z ZaICh : , :
7. Acceptable responses. - ‘ARwr BA
(1) The book sells Well.reerrrrrurrsrrssmmmmsnssssioniinnsiannisrancsenns (24)  (46)
(2) The book has g00d  sales, s-eseeeressessnnessiansninen () (4)
(3) They sell the book well. v e (0)  (2)
bl et (24) (52)

| 1}, Partialfy acceptable‘responses.

A(1) The book SOId Well, «rrsersesersreasemssssssnmunmuinssssissennseiesss 0) (1)
R rerveeenenenneseseneaas eeeeeeereen e erairear e e ae s rresats (0) (1)

- v}, Unacceptable pesponses.

29. Folf “molepri: EHEA “unk’d] JFuEIL “o]"E 494 Aom.

¥ & gu, 454
(o, %ol guleh, 4] nojth)x & Fx Uk FolE ol 943 F2 = be+TV-+en
o AEAz debdeh w=@ Fo9 “2etE sk STAL B JolE B4H ol
- [ logk at )
watch
Bt} see
’ 1 gaze
glance

30. Roderick A. Jacobs and Peter S. Rosenbaum, 1968, pp. 23—26.

— 23—
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(1)* The book is sold well.- ........ creeeeninen (54)

" (2)* The book is bought Weli. e cereiiee e (2)
" (3)* The book is sell very Welj ........... e (17)>
(4)* The book bought Very Well S RN )
Bh. 7] T ER eeseereeereeienssinrenesnesiiiniainaeisieiitennnestividiet i nnionnecnsnis (2 )
GELZL FHA] rveserenreesnesneseenenenens PSSO PRURS (99)

AT—(1)-2 A9 sentence BA & E7}8Ht phrase BAE F3]

A, gujedes Aud.

7. OM{Xle] ZAMSI7} ol Zad Qi

-7}, Acceptable responses. R S Azl ek
(1) The portramt of my father hangs on the Wall ------e“-=-é--~(21) '
(2) The porralt of my father is hung on the wall.:-eweveeierena(15)
-(3) The portralt of my faLher 1s suspended on ‘the wall ------ (1)
(4) The portrait of my father is on the Wall. «weresessnsesnnene (6) -

Al reeeriressennanns i Eiveenbednnns ieenene ROTUUROERIN Cederees (46)‘

v}, Partially acceptable responses: none.

D} Unacceptable responses.

(1)* The portralt of my falher is hanged on the wall. -oreoever (30)
(2)* The portrait of my father is hanged by the wall.s-+(0)
‘(’3)* The portrait of my father is hooked on the wall.--eseeeee (1)
(4)* The portrait of my father suspends on the wall. --verer (0)
A eerernerersenieere e s rrreeeeenns reesterererererins (31)
2. 7| 3 O SO U UO SO S SO PTPTTN (8)
[T U OO SRS T O (85)
8. =0| EHCh
7F. Acceptable rasponsés. T “ AZ 5l
() The‘doorv opened. «eesseseeees evesene e e (21)
(2) The door was opened. «-weeeieesees S, SR P (58)
(7’). The door opened up,----ssw-ivsses: ( 0).
B e - (79)
. Paftially\acceptable respones. _
A1) The door was open. - veeesrresinnnnnisetenrereranrasenriareresess (13)

(59) -
(1)

(20) :

1)
(10)
(144)

cue o] =

BYg -
(43)
(11)
(1)
(12) -
(67)

(34)
(1)
(0)
(1)
(36)
(14)
(7

B ok
(58)
(50)
(1)
(109)

(31)
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A{2) The door is OPening. =+t eeerrnscersssnraiorririnrerrmrierisn it (0) (1)
Al ettt e et et e e ra e e eeas erreneeaees et —————. (13) (32),

t}. Unacceptable responsés. ,
(1)* The door has Open. -« «reeerrmremireerinieinreuess vt (07 - (1)
Tl 7] ER cereereereeei e ereees s we(6) (15)
GSTFRp GFA] cervrnenenn e ereraeeseeeaans 98) (147

A—(1)% Fol3l cue ¢} A 3] FAGHA dovt FE4F wolz A AefE ek

%= (degree of grammaticality o] w}e}4] acceptable response = abo}E4]
o] & I3k Yulal 4 FolAl cueo] ubE Ao opelm FFIcLE o5 5
ole) gk AL FolA cue s} Foldl golA slFro] E’—i JolzE I FHEL
1a Al geldl Al =% T2 YelA by+NPo "elE AT P

Lol 95kl aAAre] B Aolshm

Ao
o,

il
o
o
h
ot
2
>
ol
e

£
O

FARER AT 24

104

261
(36. 8)

186
(61. 8)

(57.6)

408

3 .16 39
0.7) l (5. 6) (9.3)

239 melE o GAT AT 36.8%2 FEAA e Ak W o%urk F%A
AstAl AolAA ¥ Rhe R
5

h. ol test Ao 5t Awke] Foid F2F Jojol &

dgaldl &g gdEAdel 9 (zero)el] A7t AL A
T AL 2yl D}

f2kgE T2k g w2k

o] v}, :Lall sl Fg8 o] 7
} \

HA e oF i ;
weld] ofTelst W] BYTE|H FLste Fof AR

31.. They believed him honest. 8] 3]F%
; " He was believed honest (by-+them) =+
*The book 7s sold well(by-+NPy) 3. vjastsd & 5+ 3=

— 925 —
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AR 0|28 adsad sk 9% AsA vEhdsh, 49 asAel WA R
g ) test AY Sae AT deld gold BRA AT TR 5
RECEER ST AA7 Asz & A3e H5 2L

(3) Folg olul4 JFFol 44 FFAE ehb: A

b
r:}]d
Xk
o,
o
il

T4 R fuigen B4G SFTEE LT FalEjok el m ETEI o] FF
2o RelA e FolamFoe] hEA EyAAd 24T

glolgf ol A A3 Asta efugt Aolzl dhviely @ FAY g Ad Hehd
B E 7 shele A zhel] A o}, 88
¥ i o i
e 2 gl ZYEO. a. Boiling water evaporates rapidly.
b. Zel zhde] ZIHELL : - b. The river deepened last year.
c. ool Frlel HEC) c. The falling leaves drifted by the
window.
S Fo1 8 EFEAL T8 AF A7} 5] 54 (passivity)

ol

32. 2B, T4 S g od —A%dF4 L Fhom—" A6 o
2(A-gliga oTadT4, 1972. 10), p.18 T=.

33. Wilga M. Riverst =18 AA Teacking Foreign Language Skills9] p.16:14 Noam
Chomsky$] &g =}-g3 o] ol-&-8hm g} :
“Chomsky distinguishes between two types of grammar. ‘A grammar in the traditional
view,’ he says, ‘is an account of competence. It describes and attempts to account
for the ability of speaker to understand an appropriate sentence on a given ogccasion.
If it is a pedagogic grammar, it attempts to provide the students with the ability; if a
linguistic grammar, it aims to discover and exhibit the mechanisms that make this'
achievement possible, ”

3t 4, PR|RE. p 420 Fx,

tATE gE =i

£



9. Lo| SR T ck.

7t. Aceeptable ressponses. : Azl

A vt
(1) It is getﬁng darker and darker. ------- STV cereieeiennnnnnien €0)
2) It's getting dark ............................ 27)
(3) It becomes darker and darker,-----seeeeeeesrereereerressrueennes ~(0)
(4) Tt becomes dark, ceeeee.- s e tererartatecanireneateaerararnarrens (3).
(5) It gets darker and darker. «ereeecereessecmreereesesseeenns S (0)
8) It gets dark. «seeeeerreererimmmiieiiiinniiin, eeerecisiiuteranseacunsetonas (0)
(7) It is darker and darker.-:ceeeerees e e an
(8) It GTOWS dark. covvremreniin e (0)
(9) It is darker. «-sceereeeeereecres et ere et et et e a—arreanares (1)

Al e e heetenrnraeionnn - (48)
-,  Partially aéceptable responses.
A(l). The weather datrKkens. «ieeeeseererrermrmmmrmireontcionieiinireionnne (2)
A@).I is darker little by little. sreeeresvemrasseerennnes s ( Q)
] Heesseeseetsriesseeisieniesassessteaieiateatessatatasaits et et e ataassrateann (2)
vk, Unacceptable respones.
(1)* It,s toward TAGRE. ceveerereneriniteeeeanr e ee e srre st e e (0)
(2)* It's being dark. e eeeesssesimn s e (8)
(3)% It is OINE 10 dArk. sereereeeeermresrerismesniismrssnesesns eerrerans (0)
(4)* Tt is darking. --e--eeeeseessens eeeerereenren eeererereenunnnnareserans (8)
(5)* It gets darking. «rer-eeeers eeretveie et raaeeeen SRR (0)
(6)* It gets dark and_dark.‘ PR e (0)
()% It is dark and dark. --eeoemeeerenmionnnns B RIS (3)
(8)* Tt is more and more darker, «ereeeesrecemesianieririinnns ceeenn(0)
(9)* 1t is ‘more and more dark, <eceeeivecerrcrernsieinieniniaiareen (1)
(10)* Tt is darkened, «-eeeeereeresrecivivenne s SUPO c(0)
| evrereeesieeeranenie st aae st e s e e s e st st (20)
gt 7 B ceeveeennerannmenceeirneteeaniene et s s naa e s (22)
N T | TP P PP PP PP PP PP P P D TP P P PPPTRPPPITTERPRRPRTELRIELAL '(92)‘
B (D YA s bt 4FAASTE ulst o]

23

B v
(2)
(39)
€4)
(11)
(5)
(2)
(20)
(3)
(2)
(88)

(4)

(1)
(5)

(1)
(10)
(3)
{14)
(1)
(1)
(1)
(2)
(2)
(1)
(36)
(18)
(147)

2gdez
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10. {7t MAto = AtapElCh
7} Acceptable responses. .- - . v
© (1) The sun ciisappears behind the western hill. «oooceeeeiienen (21,
(2) The sun sets behind the western hill, ~----- g (21)
;@ymawnwmmswaHquwmmn~mmw --------- (5)
(4) The sun falls behind the western hill. Lbeesstie e 7y
(5) The sun goes down behind the western hill. -rreveereees e ()
(6) The sun sinks behind the western Rl eeeermreeesnenneniens (0)
“(7) The sun hides bzhind the western hill. -revereen ----- (0)
e I O OTUUOUSURU PSPPSRI T (57)
i}, Partially acceptable responses: none.
c+ IJnacceDtable responses -
(1)* The sun .abolishes behind the wvestern hill, veeeeermemsennnoe (0)
(2)* The sun comes down behind the western hill. -wewseeene( Q)
(3)* The sun sits in the West -rerrrerrrmmnninicn. e (1)
(4)* The sun is g0iNg £0 WeSt, +++rsrtrsrmssmiminisisssstsieinnisisinnsens (0)
" (5)* The sun is set behind the wWestern Ri[l, «-eessesseeseeserssee (8)
(6)* The sun is vanished behind the western hill. -«rreermee (1)
(7)* The sun is fallen behind the westesn hill, -+se-vresessere weeein (12)
(8)* The sun is dlsappeared in the. west [ (3)
(9)* The sun is gone in the west, +eeereeeres ST ORI (2)
T g O OO o (27)
2. 7] EJ- srseeeseeensessnnnntioiteentieite i st sbe s e oas bbb sre s besean e (12)
R T2 v O SO PU OO SOOI (96)
11. MEF ol 2 Eo{E AHoloh
7}. Acceptable responses.- v o »[i%}%k
(1) The price of sugar will drop soom. - et veeeienn( 1)
(2) The price of sugar will fall soom. wseeesess PN (16)
(3) The price of sugar will 20 dOWIH SO0, #+eerserererravermrieniaens (5)
(4) The price ofl sugar is going to fall soon, «--rreesrierenneneinnss (1)

~— 28—

s

B

(28)

. (46)

(11)
(6)
(7)
(1)

(1)

(100)

(1)

(2 )

(1)
(1)
(2)

“(0)
(2)

(0)
(0)
(9)
(19)
(128)

BA %

-(5)
(35)"

(10)
(0)

3] F7-
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A s (23) (50
1}, Partially acceptable responses. ‘
A(D) The price of sugar will be low. serereeessrenersrninniiniens () (2)
A(2) The price of sug‘ar‘ will be . cheap. «eveerrrereeriann (1) (3)
A(3) The price of sugar will be dropped. «sseermesssessosssnrese (0)  (3)
F eereeseesserieetene ettt e sttt e r e s eai e (1) (8)
t}, Unacceptale responses. 4 - ’
(1)* The price of sugar is fallen soom. «eeeeeess beerreeeeriierenennas (8) (14)
(2)* The price of sugar will be fallen. «e--serereeereenninns evemverarens (19) (8)
(3)* The price of sugar will be going to low. «eerrerrsmnissioniens (0) (3)
(4)* The price of sugar Will get dOWI. rserereessressesemsierennns (1) (0)
2}, - 7] Ef revrrenrrmenriosnaniniiiiiiiii e LT TTTTOPPOPPN (1) (27)
QEbL FFA] reerererrertretneete e adnsires (65) (110)

3
A—()e FgAos Asae g6
lower.”gl o o & F30]
AY—(2)= Y— (1) SQ 54 “The price of sugar will be cheaper.”<].o.
. vl EL FAolgl g Aoje}
A—@3)& FHAd o 75
2 7Hsse. ,
8 A E nel FRol AR BHSE AfelE Foid SFETEE dojd] AolAA
Aol ekzh 2 99 74 asld g% AE0] AR E el
9. x} (2), 3) 2WE .

I am going to school.

el

1am re’;ﬁaz'ni'ng in America till after the election.
Are you going to wait there all day?
“°1 A4APY T2E T4,
9w (08 D
Break, breéi{, ’brea;k\,
On thy cold grey stones, O sea! ‘
S} e Egol A ) o] whels) 9hE Apgel] &she] gv] % Adee TEE A BL

siek.
0. th (8) % (9%
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I love you more and more everyday.
. The baloon went up higher and hfgh‘er. .
o Ze FzET AR o4 g5t} Agetm .z, 9.7k (1009 58S oFe wk A

wto] vhERIT :qu o 74 agld F AEE veFtbz Yok

R U A
A T2} $AE B T FoiA cue st Yu Ak JFE| B A 0|5
Y.

A edld 9§ 275 navka & 4 A

Eo Fol9) g4 A G4 SFA A

$ 7 A4 & | B B A 4 | 9558 oFF | 299 ons | o
A | B A B A B A B A B
3 B ein | 6oh | e | 09 | 60 | ww | abe| ube

F49) Gehg 9o} 2o] HEFZE delo] 2ulE AojAA SHE WE A% A skl
b Wl mehd e Akl WA B dl golek whdel 2 99 pdadel 9%
OFE GasA %S Akl o = %3
298 oRurts s o v golth o W
THead AT Fd F5TRA obddlE F A EL S15A Gu & mol 9%

1

o® AFEHd Gofd oJFEew BAT Aseld. HAebd dwe madd Rel4

ol 2318 fAT T2E FLASE FoR Hot dEIAE W grtm Holol et
(4) Sol9 FFEst gold FF 2 el s A%
= & T
a. a2dE a2 4 dde A » ! a, She #s.ashamed of having done
Hrz{ st} S such a thing,
b. V& m3® 4= ochs], D 2sich b. I am qulte tired wzth the. hard work.
e 29E ATk St 442 E3 ¢, She was much surprised at the news
' ¢ SR ' of her friend’s death.

o, -

o)A AR = Fol ] SIEH 7L Folel A4 1~”~Eﬂi° 5 B R

Ao,

'WQ-
gabel 2 wokth oA AL o)} el Fol8 SEZe] deld -
2L 409 B4Rk A 24 ARl Aok Ead Folx w4l

f

-

[e}

=3
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12. ZBlE B2 AIRIEZ E&FLC)
7t ,Acceptable responses. . ARl
(1 Thé street was crowed with many people. (9)
(2) The street was full of many people. st v..‘( 2)
- (3) lThe street was in great confusion with many people. --(0)
) ST s -(11)
1}. Partially acceptabe responses,
A{1) The street crowded with -many deople, -ooeveerererereeienian (1)
A(2) The street was crowded by many people. «e-eeseeseresens (17)v
A(3) The street crowded in many people. sennressesnneseninee e (0)
A(4) There are many crowds in the street, «-seseeessersesns e (2)
F e -(20)
t}. Unacceptable 7responses. .
(1)* The street was crowded for many people,«sssesereeesenes e ( 0.)
(2)* The street was crowded in many people. --sererreeenssseeeens (0)
(3)* The street was crowded of many people. -+ SR (1)
(4)* The street was crowded many people,swsswsserserssessesssense (2)
(5)* The street was confused by many people.-ereerserereren(5)
(6)* The street was confused many people.----eeereereerarsmteerees (1)
(7)* The street was bewidered by many pple. wssseseserescsees (1)
(8)* The street was rushed by many people.-«:---eee SECIRRLILIY (2y
(9)* The stfeet wes, become complicated by many beople. --(1)
(10)* Thév street crowdéd by many pepple, soeeeererees SITTITSSLENIER 0)
(11)* The street confused with many peOple. seerrerressnenereninaens (1)
(12)* The street confused by many People, »-se-wrseemsessseseess (0)
USV‘Thesﬂeﬂ:wascmﬁuﬁm1nmnYIWOMeu"““""“"f """"" (1)
(14)* The street was busy by many people, crrererrreesseiensesees (2)
O R st (18)
2. 7] B ceerereseseners s (18)
L 2=} FhA] eeeneeeens et (67),

Av—(1)-& phrasez4- 7H53kch.

A"/}"—-(Z)TL: 3"’37(4 LB 7]‘%’5‘}'1/]— -7[7-6)-‘['211‘ cueQ}T‘;- ,.9] ‘._,] }c}ﬁ.i w3y

BA =)
(14)
(8)
1)
(23)

(8)
(20)
(1)

(2

(29}



= oA%E
Avk—(3)-& phrase 24 7}%53}th

AY—@)E BPA oz et Juder REsd $pA0R sHedh

13. 2= stE0| O Hutol BEEIUCL

7}. Acceptable responses, - ; - ARk
(1) All the students were contented with the result, - (3)
(2) Al the students were satisfied with the result. | «-eveieeen (13)
(3) All the students Were_satisfied b&Ithe result, -eeeesieeeieens (15)
(4) All the students were pleased with fhe TeSUlt, wreserrenees (3)
(5)i All ths students 7contented themselves with the result.---(0)
(6) All the students wer'e. satiéfi_ed at the result, oeereeees reeeeede(4)
(7) All tile é'tudents‘ we‘revs_atisfied in the res'ult. ------ erreeee (1)

A , ................................ arvesesose (39)

1}. Partially acceptable responses.

A(1) All the students satisfied with Tesult, - e (1)
A(2) All the studants éé;ciéfied in the resulf, «ooeereservemnreenss (3)
A(3) All the student§ satisfiéd at the result. «weivereeveserenene (1)
‘A(4) All th= stﬁdents cont,enied with the result. ‘weeeeereeeees (3)
A e SR reereeaiiesenranessanans et eia s (8)

th. Unaccgptablé.'reéponses. o '

| (1)* All the students w_eré satisfied as the result. --ccooeoeeeere (1)
(2)* All the students were satisfied of -the result. «eeeee(1)
(3)* All thg 'st.qdrgnFs were ’»satisfied/ the resulf. -oo-ecoeesceceeens (6)

. (4)* All tﬁe_ Stngn@s were contented as the resulf. -----eee (1)

\ (5)* All the s»tqden;ts‘.werve 'contented‘ the result, --eseseseesenss (0)

'CGj*_Ali the students ‘satisfied‘ on the result. :ieeeerneeee = (0)
{7)* All the students s;i,tis,‘fied about the FESUIE, roevrcesrreerens (0)

(8)* Allv the students.satisfied the IﬁéSIﬂt» RS TP PP (11)
(9)* All the Studeﬁts_ contented the result, -weeeeereeerenerrereenss (2)
(105* All the studenté contented on the result, «reeeesmeseereneens (0)

A ceeereerenreenenes oot e (22)

2k 7| 11 R i eeeeeearenaas .............. eressetas (20)

BA &
C(8)
(31)
(1)
(2)
(3)
(0)
(3)
(47)

(4)
(2)
(2)
(11)
(19)

(1)
(0)
(10
(0)
(2)
(3)
(1)
(n
(5)

(2)
- (35)

(28)
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(129)

-+ (89)

z}_ %Q‘zﬂ..-'..
AY—(D), (2),(3) 2 ()& Fo]A cued] phrase®4] 7t
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S od ¢
a. ZEe] W= Qa 2AH =HAUCL " a. The rain made the river rise.
—The rwer was made to rise by the r4in.
b. A37b Helx & Aol F¢EellA b. Newton saw an apole:
HoArh ‘ . —An apple was seen to fall by Newton.

o] B3 do9 FEu E4 finite verbr} AdEA L A 5 Aol g o obje-
tive complementf—_ 291 bare infintive 7} 9] 5w Aol ¢35t to- infinitive = w}# o} of
Ehie o585} Tol9 S5EAE dAAA el B4 AR FFo] 45 TEA
g FYTFE Bl FYTFEE WA Folo] Hlste] B E SFAAgelA & 01’4-
L AARAL 3450 913 Fabelvh, z b-e vhidl o Ade o A &3 2k,

(149 ME0] LT 2loiM RE 2217t sach,

o

7}. Acceptable responses. . Ax= BA%
(1) We hear thebirds singing in the tree. «resseercemecesas (2)  (3)
(2)‘ We hear ,the birds sing in the tree. «rorererereesiini, ( 4) (7')
(3) Birds are heard to sihg in the tree. «-eeeeseses ------- (7) (9)
(4) We hear the 4song of birds in the tree, -------------- (2) (3)
(5) The song of birds is. heard in the tree, ooeeeeeeree osevnaeseine (5) l( 2)

A eereereeseenns rereeaaee PO et (200 (24)
i}, Partially acceptable responses: nome. ' ’

e}, Unacceptable responses.

(1)* We hear birds to singing the tree. «e-eoeeeee: Srrereanenieis (0) (1)
(2)* Birds singing is heard on the tree. «-ee-eeereeee revieeeneereeies (5) (4)
(3)* I hear that birds are singing ih the tree. - oereeerrervesmean (5 (1)
F] ereereeresriree ettt e b e e ae s (10) (12)
z}. 7] L7 S LTI TP T T LT PP PP PP PRPE PR PPIPYRPPPPARTEPL PR PRI 37) (62)
LA P eveerennenseerenst ettt et (67) (98)

dl Al vEbd b SHARE o]4kY BhE oW d EgusE Mg A 1658 o2 o
Aol A AL 1005 Al IR G geh ol
ik Feial £ AR EAL Ak FAA BT 4
Ak 2 A T2 gl U 944 SRRk st
L e B e —H{L"-i o] Feld Tz HA44L wxstz gk deldl gleldE I
ol 8} A AN R EE FALE g sentence tl¢) embedding sentence & 2§ EAg
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T2%F o]&x gl 283 o]zl g embedding sentences] E&-2 A AR e
ek olgdr B39 A B Jargn J]E:}ng}% Ze] A FA A Hele A
:q d o2 six] = cheksiAl Velhviz ¢t L ’
ol4He] FAAEL AF 4 Aulold FFelx G AwelA IFTE

el A
to-infinitives] &w)7} FA|5x 3 embedding sentenced] FMzjel o1& FAlol FFH
ol Y7 AAdos 2 FA a8 T2 2AT b4 oledd A3t e Ao=
B 7zH=l ek,

(6) Fo18 slEulsl dol9 slBHEA Foizk BARA AF
S 9 &
a.' At & A T7} Lﬂ 2ATZ a. In the olden times they believed tha
- Rl F O the earth was square.

—In the olden times 7 was believed the
the earch was square.
b, g8 zAEL L75tn &7 8w b. We thought that our forefathers were
MZHEI T}, , brave and wise.
‘ It was thought that our forefathers were
brave and wise. ;
541”5‘3]- 7ol g8 TEElel gloiA 7k NP7k AR S °] 2037‘3% w o5 Ao st
o] NP7} o] 24 Aol 4] 30| (formal subJect) "o oAl 43 2 Fo] (real subje
ct)E FlE Buje] R AL, oFFeld FaRAQ ALY AFARE Fold ¥

P,e] A EAE 24T AT Pl

stel 3R S15RAY A4 N
(15) 29 Hol= F0| HAl & Hol2tn LshzlCh
7}. Acceptable responses. 37
(1) It is said that w= shall have little snow this winter, «eecerseseeeess (59)
(2) They say that we shall have little snow this winter, ---r-eeceereereees (26}
(3) I hear that we shall have little snow this winter, «oooccererereeereeneeee (L
A veereereenneriesans et eeeeeereeeeteeeeneiieresetveteneairereeteeetes i taonaaseeeaaanes sarees (86)

o

. Sense groupd Z#-& 2 #F oA clausex &2 phrase®® ssaeh, 2 9w dE
Zﬂ_ Dl Tz27) clauserk phrasetke] =tk 3 AR Y T= 7} 2abR e},

56. Foldl A~ B ~Fhm DEHFE ~im BAAHR ~n AR uTHE A
Ax#eh, 28} Jela AL “They say that~.” “They belive that~.”2tt= “It is said
th at~.” “It is believed that~.”¢] W% zpel ~H 3 go] 29T,

2. 29 () ¢ 24 FRRE P FAL

— 35—
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= Partlally acceptable responsps none,

o}, Unacceptable responses.

(1)* Tt is told for us to have little snow this winter, ----<:---- resenneenes (6)
(2)* The people speak, “we shall have litte snow this winter,” - (1)

75}] ................................................................................................ ( 7 )
QUBERE ] eveerreeien et s (174)

A 885 oz ¢F 5:59 wgE mol:

Fzz BAT o) 59%, FEFEE BHT Aol WPoz B4 dA4L ek w4kl
o 50%= Hof gek. 2elv AdR BE A B9 889 T 0% ol4b]l FHo A
5 AR P& ekl SiE Aoz mol o] ok W gL S| FT 2o W
EA QL that-claused] Mzt v% olddn B4 A=A T2E sideia %@

Aol 2 4le] A gErltele Age)rh,
(7) S 5Tz glelA AR
oA 7AA & oFFeldl T& AbAld] Ag LA A At £4 A ES Jé_akﬁ}. ELE
S 5o 2o glo4 1 T2 AT Eehd oFE AxzE
A AR Gl B $FEG Ao Bl AL
q-“go] & FATh"E de= TAY o F FolA el e o FsF wAL,
. The book sells well. o} o 574 ‘ '
(7})* The book 7s selled‘\well.
(\})* The book #s sell well. Eo 2 Vebuic),
ZH4 7%,
Fol8 FolA cued| TFo] Al AFALE FRHel & AL SETF=
=

=€ ZXxelrh v °47] A4 EAIHARE AL 55T

NCSEIE BN
Be%a} chitel sellibs 4 $& A& Tal Fof vhgol beFAl} mee THE @)

Aol =) P40 berh AU F + Yok 2T TABAL A R4



Mzt A¢ $nt gAY 1 HALAE E2me adz SolE ASE 448 2
ok, 2Elv test Fak Ao YA Folo NEFEE Jod W ETEE Fol AW el =

=] wk
o3 7] o] 4] ‘&7}27 %7}%?10

T 93 A 0% B T delAA A Belga 907
T T E 9L SAAR A2 AT AAE W el Feoh gof4

38. Questionaires] Foizl $49 ol 9shst £FAY AL = s} “sell” o] glomz o =
Fe Ua Aold, oA Tl o «
“see—seened
fall—falled
buy—buied,
sell—sold—solt .

—solded 5= bt S 474 s+

39. 49 AA7 qA, T FAAL 22 FeF FAo A, A EAG A L AolAw =

& Beg FHol ofeg Fol, 9EY A5, AYY A5, 99 ¢A TL 3749 AgH
s EdEe % et st B, ‘ :

The people are (is) over the mountain.

She has been died for years.

The house is being built.

English shal have been being learned for flve years next March. etc.
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Abstract

This report deals with the structural ihterference expected in learning English in
high school with the emphasis on the paésive voice of Korean and English. The
testing method to find the interference is to let students translate the Korean
passive séntenées, which are considered the regular passive in Korean, and which
are thought to be the passive in meannng, etc. into English. '

The basic work is made up of the natufe of interfer‘enee and the relation between
the int-grference and the gontrastive analysis, and the pedag’bgically methodologica
contrastive analysis of Korean and English passive voice and the making the test
items. o o

Also the students are divided into two groups. One has learned Korean and
English’ on the basis of the contrastive analysis before the test, the other has not

learned. The results in testing the items are concluded:

1. When Karea_n and English are of the same passive voice, the intefference, is de-
creased, while it is increased when they are not of the same passive"voice, and
the intetferences by the other inteffering causes occur at the same time also.

2. When they are of the same structure, the interfernce by having acquired the
similar structure in English itsslf intervenes mucli more than when theyrare not.

3. There appears to be littlé difference between the two groups when they have
learned the same structure. But when they have not learned the same structure,
the former group shows the interference by the passi\ie’ expression more strik-
ingly. Moreover the latter group shows interference in a lesser proportion than
the former. The p’ropbrtion of the interference by the passive expression of the
former is much higher than that of the interferences by other causes. When the
students learn the passive voice on the basis of contrastive analysis ~ of both
_languages, the learning before the test is not as good, as we have expected, in
so far as the teacher does not point out the case in Wﬁich the Korean intransitive
verbs with pa;ssivity appear like the passive voice and the case in which English

‘with the copula is expressed to be the passive voice in Korean.

— 40—
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